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sAlC - Tg AT H & @ust H TAHFT ¢
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This assignment is divided into two sections. It is mandatory to attempt at
least 5 questions from each section. Thus a total of 10 questions are
compulsory to attempt.

gus ()
1. ‘&fd’ oeg o &9 faf@A| (10)

BT FATT AT FIOT FG= |
Write the forms of the word ‘&fd’.

2. Rerd vyl $ qid St (10)
Reraeareanta qra=q|

Fill in the blanks.

geg: | faNerd | UehadeiH | gfdaae |agaae | felar
: Gl 7 #

dTeTeh: | 9AT

dolH a\aél
R21)

FREAA | Tt

9




D EEEIEEE

HITTe (HITATe) 2sG, o &9 fAT@A| (10)
3T (ITATeT) AT FUTOT fere |

Write the forms of the word HdTd« (379TdTe).

FH YT & oI5 oK & &7 faf@d| (10)
TH YTAl: TFAhRET FUTOT ferge |

Write the &5 &R (past forms) of the root TH .
fAFfaf@d ereel & R, 7o 3R ga= faf@d| (10)
fAEAfAfEderser=l R, gey, ao= 7 fore=q|

Write the lakaar, person and number of the following words.

ded, forwy:, wafd, 3P, aeFgard

foFfafd et $r #Fererg faf@d| (10)



fAFAf TG T ereeTar Herends forg=d|
Write the roots of the following words.

CrIE =
gTore:; =

%

gus (9)
1. ar-fepar &1 e fifad| (10)

el fonamaT: & Ao Hdeq|
Match the subjects according to the verbs.

3EH qaY:
ar Fdfed

o]



dIH Jod:
d forata
garH TATH:

T {A-Tea g 2sq; Ao HfSd| (10)
i YeddeT e TSI el s AT SHled] |

Form the words by adding suffixes with the words.

EeAT+3FcaT =
"Ie+FcdT =

gg+aFcal =
qotreredt =
?:I_,'{+H:ET =
d+arcar =
qT+eFcdTl =
e+t =
AH+FAT =

hIvaeh H & I Aeal hl HEAIAT ¥ Rebel FATAT gt TS| (10)
hISShYCTIISCTAT HIETZAA RFTTUTA I |

Fill in the blanks with the help of words given in the brackets.

T: JEIRIe gfesafa| (F+faer+eay)
14T I el ATfASIfa? (A+JH)



4.

?EIDT:IT THIAA ?‘I}f (ITH+FAA)
AATANSA__ (F+d)
AT e qofd (ITH+aFcan)

T, ud, AW, 3fd, Iq, @A, e 3o edl fr grar @ Rad

A& H1 it HIfad| (10)

T, T, AW, 3fd, Id, @A, TEEIH Ud: HeIqus: Rededrie

3o |

a

S

T, ud, 319, 3fd, Id, G&aA, SaNH Fill in the blanks with the help of

these words.

Ao, Ao, 1A EGICEHGE
T Ael: et Wiefad TH ar frer efrer @refd|
AT o hael STefehr: 3T sTferer: erfasafed|

ag: A GIEATS]
HTaT defa GECARIRCEES

fFfafEd fadert 1 Jgat a7 T g3 ¢ e & faf@d| (10)

fFafafed-fadene ufscar &: @a7a: sid dFpa o |
Read the following instructions and write ‘what time is it?' in Sanskrit.

11.30 =
2.00 =
4.45 =
3.30 =
6.15 =



hIcSeh H 1T I Qregl I HrIAT & Rered TUTAT T et hifardr| (10)
PISShHYCTISETAT AIETTAA RFTTATAT R |

Fill in the blanks with the help of words given in the brackets.

————g 39T TS| (T, 9)

£ = pR— g doIH 3D (T&EHTT:)
———=:| ()
—FAlGehlie Uded | (37EAT)
———TH HYSTAT 3| (T, E)




